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

Time : 2 Hours        [Maximum Marks : 70

Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed

instructions given therein. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be issued.

  



        

         

       
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Section–A / 

(Long Answer Type Questions) /    

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. How did World Trade Organization affected Indian

agriculture?

        

 

2. How did affected industry policy 1991 to Indian

economy?

 

    

3. What are the problems of entrepreneur in public

sectors? Give suggestions for prevention for these

problems.
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        

   

4. Throw light on main reasons in equilibrium and rem-

edies of balance of payment.

        

  

5. There cannot be expected growth in agriculture sec-

tor in spite of agriculture oriented Indian economy-

Discuss this statement.

      





Section–B / 

(Short-Answer-Type Questions) /    

Note :Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

(4×8=32)
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    (08)      

      (08)   

  (04)  

 

1. What are the infrastructural changes in Indian

economy after independence?



  

2. What is the meaning of economic planning?

     

3. Write a note on Niti Aayog.

      

4. Suggest remedies for reducing unemployment.

     

5. What are the main difficulties for measurement of

national income?

        

6. What are main elements of monetary set?

       
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7. What are the open market functions of Reserve bank?

         

8. Explain in short public debt.

     
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